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 %----------Calc the L-type Ca current---------------------- 

                 [CfCa,RevPCa]= CalcConstantfield(Cai,Cao,2, Vm); 
%Ca  
                 [CfK,RevPK] = CalcConstantfield(Ki,Ko,1, Vm);  %K 
                 [CfNa,RevPNa] = CalcConstantfield(Nai,Nao,1, 
Vm);  %Na 
                 if (count ==1 && currenttime == 0) 
                     Va = -74.0078; 
                 else  
                     Va = Vm; 
                 end 
                 if (count ==0) 
                   [mcal, hcal,n] = calcRateConst(1,Va,
0,Cai,mcal,hcal,count,dt); %Calc m and h 
                   ICaLNa = (0.00005*PCAL*CfNa)*mcal*hcal; 
                   ICaLK = (0.001 * PCAL * CfK)*mcal*hcal; 
                   %ICaLCa = (PCAL * CfCa*mcal*hcal); %original 
                   ICaLCa = (PCAL * CfCa*mcal*hcal); 
                   ICaL = ICaLCa + ICaLK+ICaLNa; 
                 else 
                   ICaLNa = (0.00005*PCAL*CfNa)*mcal*hcal; 
                   ICaLK = (0.001 * PCAL * CfK)*mcal*hcal; 
                   ICaLCa = (PCAL * CfCa*mcal*hcal); 
                   ICaL = ICaLCa + ICaLK+ICaLNa;   
                   [mcal, hcal] = calcRateConst(1,Va,
0,Cai,mcal,hcal,count,dt); %Calc m and h 
                 end 
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  There are >450 models in the repository 

  Only a handful been translated straight 
from the published paper into a working 
CellML model 

  Typographical errors 
  Missing parameter values 
  Missing initial conditions 
  Missing equations 
  Lack of unit definitions 



Published paper                    CellML 
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 After a long period without tools we now 
have a legacy of broken models to curate 

 Of the 450 models in the repository ~½ 
have been curated to some degree 

 We accept there are some models which 
will never work properly  



 Continuing to validate the models in the 
repository (existing and new) 

 Model annotation 

 Automated curation? 

  Replace the curation star system with a 
more meaningful set of curation “flags” 




